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सामा᭠य अनुदेश :- 

1. इस ᮧ᳤ पᮢ मᱶ पाँच अनुभाग ह।ै  
2. इस ᮧ᳤ पᮢ मᱶ कुल 20 ᮧ᳤ ह।ᱹ  
3. सभी ᮧ᳤ अिनवायᭅ ह।ᱹ  
4. कुछ ᮧ᳤ᲂ मᱶ आतंᳯरक िवक᭨प ᳰदय ेगए ह।ᱹ इनमᱶ से ᳰकसी एक को हल करᱶ।  
5. ᮧ᭜येक ᮧ᳤ के सामने उनके अंक इंिगत ह।ᱹ  
6. खंड क, ᮧ᳤ सं᭎या 1 से 6 तक ह ᱹᮧ᭜येक 1 अंक का ह।ै  
7. खंड ख, ᮧ᳤ सं᭎या 7 से 11 तक ह ᱹᮧ᭜येक 2 अंक का ह।ै  
8. खंड ग, ᮧ᳤ सं᭎या 12 से 17 तक ह ᱹᮧ᭜येक 3 अंक का ह।ै  
9. खंड घ, ᮧ᳤ सं᭎या 18 से 19 तक ह ᱹᮧ᭜येक 4 अंक का ह।ै  
10. खंड ङ, ᮧ᳤ सं᭎या 20 मानिचᮢ आधाᳯरत ह ᱹिजसम ेदो भाग ह-ै20(A) और 20(B). यह कुल 6 अंकᲂ का 

ह।ै मानिचᮢ को हल करन ेके बाद उᱫरपुि᭭तका के साथ संलᲨ कᳱिजये।  
11. ᮧ᳤ सं᭎या 20 के ᭭थान पर दिृ᳥ बािधत िव᳒ाᳶथयᲂ के िलए अलग से ᮧ᳤ ᳰदय ेगए ह।ᱹ   

 
General Instructions:- 

1. This question paper is divided into five sections. 
2. There are total 20 questions in this question paper. 
3. All questions are compulsory. 
4. There is internal choice in some of the questions. Attempt only one of them. 
5. Marks are indicated against each question. 
6. Section A, questions 1 to 6 are of 1 mark each. 
7. Section B, questions 7 to 11 are of 2 marks each. 
8. Section C, questions 12 to 17 is of 3 marks each. 
9. Section D, questions 18 and 19 are of 5 marks each. 
10. Section E, question number 20 is a map based question which has two parts 20(A) and 20 (B). 

It is of total 6 marks. Map should be tied with the answer sheet only. 
11. There are separate questions in lieu of question no. 20 for visually impaired students. 

 
 
 
 
 
 
 
 



SECTION A 
ᮧ᳤ सं᭎या 1-3 तक के ᮧ᳤ᲂ का उᱫर ᳰदये गए िवक᭨पᲂ मᱶ से चुनकर िलिखए- 
Answer the question no. 1-3 by choosing the correct option given below- 

Q. No. 1  900 अᭃांश रेखा कहलाती ह-ै                                          1              
(a) ककᭅ रेखा      (b) मकर रेखा        (c) िवषुवत रेखा      (d) ᮥुव  

                 900 latitude is called – 
(a) Tropic of cancer     (b) Tropic of Capricorn        (c) Equator       (d) Pole  

 
Q. No. 2 ऋतु पᳯरवतᭅन होता ह ै-                                            1                                                 

a) पृ᭝वी के घूणᭅन के कारण        (b) पृ᭝वी के पᳯरᮓमण के कारण  
              (c)   दोनᲂ के कारण              (d) इनमᱶ से कोई नहᱭ   

                      Change in season occurs due to - 
(a) Rotation of earth                          (b) Revolution of earth    

                            (c) Both                                            (d) None of the above   
Q.No. 3 मानिचũ पर नीले रंग से िदखाया जाता है-                                1                                     

(a)मैदान                  (b) पहाड़  
              (c) जलाशय                (d) पठार  

                On maps which of the following is shown in blue colour- 
(a)  Plains                                     (b) Mountain 

                                (c) water bodies                           (d) Plateaus   
ᮧ᳤ स᭎ंया 4-6 तक के ᮧ᳤ᲂ के उᱫर अन᭒ुछेद पढ़कर पूणᭅ वा᭍य मᱶ  अपनी उᱫर पिु᭭तका मᱶ िलिखए- 
   Answer of question no. 4-6 should be given in complete sentences after reading the 

given passage 
 Q.No.4 नीचे िलखे अनु᭒छेद को पढ़कर ᳰदये गए ᮧ᳤ो के उᱫर िलिखए-                   1                  
           चूᳰँक प᭜थर के उपकरण बᱟत मह᭜वपूणᭅ थे इसिलए लोग ऐसी जगह खोजते रहते थे, 

जहाँ अ᭒छे प᭜थर िमल सकᱶ । जहाँ लोग प᭜थरᲂ से औज़ार बनाते थे,उन ᭭थलᲂ को 
उ᳒ोग-᭭थल कहते ह।ᱹ  

        ᮧ᳤ : उ᳒ोग ᭭थल ᳰकसे कहते ह?ᱹ 
          Read the paragraph carefully and answer the following question- 
                    As stone tools were important, people tried to find places where good quality stone 

was easily available. Places where stone was found and where people made tools 
are known as factory sites.  

          Question: what were factory sites? 
 
Q.No.5 नीच े िलखे अन᭒ुछेद को पढ़कर ᳰदये गए ᮧ᳤ो के उᱫर िलिखए-                      

1       

         



        ᮧ᳤ : गतᭅवास के िनशान कहाँ िमलत ेह?ᱹ  
 
         Read the paragraph carefully and answer the following question- 

             Question: (a) where do we found traces of pit house? 
 
Q No.6. नीचे िलखे अनु᭒छेद को पढ़कर ᳰदये गए ᮧ᳤ो के उᱫर िलिखए-                  1                    
         मृ᭜य ुके बाद समा᭠यतया मृतक के सगे संबंधी उसके ᮧित स᭥मान जताते ह।ᱹ लोगᲂ 

कᳱ आ᭭था ह ैᳰक मृ᭜य ुके बाद भी जीवन होता ह।ै इसिलए कᮩᲂ मᱶ मृतकᲂ के साथ 
कुछ सामान भी रख ेजाते थे।  

ᮧ᳤ : कᮩᲂ मᱶ मतृकᲂ के साथ सामान ᭍यᲂ रख ेजाते थ?े 
 
Read the paragraph carefully and answer the following question- 
                 When people die, their relatives and friends generally pay respect to them. People put 

some material with them, perhaps in the belief that there is some form of life after 
death. 

Question: Why were some materials kept with the dead people?  
 

SECTION B 
Q.No.7. लोग भेदभाव ᭍यᲂ करते ह?ᱹ ᳰक᭠हᱭ दो कारणᲂ को िलिखए।                       2                   
Why do people discriminate? Write any two reasons. 
 
Q.No.8 पशु चलते ᳰफरते ‘भोजन के भंडार’ कहलाते ह ै᭍यᲂ?                           2                             
Livestock are called the living storehouse of food. Why?   
 
Q.No.9. सभी लोगᲂ मᱶ समानता ᭍यᲂ जᱨरी ह?ै संᭃेप मᱶ वणᭅन कᳱिजए।  2 
Why is equality necessary among all? Explain briefly.  
 
 
Q.No.10 नीचे िलखे अनु᭒छेद को पढ़कर ᳰदये गए ᮧ᳤ो के उᱫर िलिखए 2 
         कुछ दशेᲂ का दशेांतरीय िव᭭तार अिधक होता ह,ै िजसके कारण वहा ँ एक से अिधक 

मानक समय अपनाए गए ह।ᱹ उदाहरण के िलए, ᱨस मᱶ 11 मानक समयᲂ को अपनाया 
गया ह।ै पृ᭝वी को एक-एक घंटे वाले 24 समय ᭃेᮢᲂ मᱶ बाँटा गया ह।ै इस ᮧकार ᮧ᭜येक 
समय-ᭃेᮢ 150 दशेांतर तक के ᭃेᮢ को घेरता ह।ै  

 



ᮧ᳤: (a)ᳰकसी दशे मᱶ एक से अिधक मानक समय ᭍यᲂ अपनाए जाते ह?ᱹ 
    (b)ᳰकस दशे मᱶ 11 मानक समयᲂ को अपनाया गया ह?ै 
Read the paragraph carefully and answer the following question 
                 Some countries have a great longitudinal extent and so they have adopted more than 

one standard time. For example, In Russia, there are as many as eleven standard 
times. The earth has been divided into twenty- four time zones of one hour each. 
Each zone thus covers 150 of longitude. 

Questions; (a) Why some country adopts more than one standard time? 
                  (b)In which country 11 standard time has been adopted? 
 
Q.No.11 नीचे िलखे अनु᭒छेद को पढ़कर ᳰदये गए ᮧ᳤ो के उᱫर िलिखए- 2 

    यहाँ खुदाई मᱶ सबसे पहले के ᭭तरᲂ से पुरात᭜विवदᲂ को िविभ᳖ ᮧकार के जानवरᲂ ᳰक हि᲻या ँ
िमली। इनमᱶ िहरण तथा सूअर जैसे जंगली जानवरᲂ ᳰक हि᲻या ँभी शािमल ह।ै उसके बाद के 
᭭तरᲂ से भेड़ और बकᳯरयᲂ कᳱ हि᲻या ँ᭔यादा िमली ह।ै उसके ऊपर ᭸यादातर मवेिशयᲂ कᳱ 
हᱭ हि᲻या ँिमली ह,ैइससे ऐसा लगता ह ैᳰक ये लोग मवेिशयᲂ को पालने लग ेथे।  

ᮧ᳤:    (a)सबसे पहल ेके ᭭तर मᱶ ᳰकन जानवरᲂ कᳱ हि᲻या ँिमली? 
      (b)कैसे पता चलता ह ैकᳱ लोग मवेिशयᲂ को पालने लग ेथे? 
Read the paragraph carefully and answer the following question- 
                 Archeologists who excavated the site found evidence of many kinds of animal bones 

from the earliest levels. These included bones of wild animals such as the deer and 
pig. In later levels, they found more bones of sheep and goat and in still later levels 
cattle bones are most common, suggesting that this was the animal that was generally 
kept by the people. 

Question: (a) Remains of which animals are found in the earliest level? 
                 (b)How is it assumed that people had started to domesticate animals? 

SECTION C 
Q.No.12 ᳰद᭨ली मᱶ नगर ᮧशासन चलाने वाली सं᭭था को ᭍या कहते ह?ᱹ यह हमारे िलए ᭍यᲂ आव᭫यक ह?ै         

                                                  3                                                               
   Which organization is responsible for the town administration in Delhi? Why is it necessary for us? 

Or (या) 
       िन᳜िलिखत वा᭍यᲂ मᱶ खाली ᭭थानᲂ को भᳯरए- 

a) पंचायत के चुने ᱟए सद᭭यᲂ को .................... कहते ह।ᱹ 
b) नगर िनगम के चुने ᱟए सद᭭यᲂ को .................. कहते ह।ᱹ  
c) पंचायत और नगर पािलका के चुनाव ᮧ᭜येक ............ वषᭅ मᱶ होते ह।ᱹ   

Fill in the blanks in the following sentences- 
(a) Elected members of Panchayat are called …………….. 
(b) Elected members of municipal corporation are called ………….. 
(c) Elections for Panchayat and municipal corporations are held at every …… year. 

 



Q.No.13 ᭍या िविवधता भेदभाव का कारण बन सकती ह?ै उदाहरण सिहत ᭭प᳥ कᳱिजए।        3      
Can diversity be a cause of discrimination? Explain with example. 

 
Q.No.14 नीचे िलखे अनु᭒छेद को पढ़कर ᳰदये गए ᮧ᳤ो के उᱫर िलिखए- 3 
        अᭃांश रेखाᲐ से िभ᳖ सभी दशेांतरीय या᭥योᱫरᲂ कᳱ लंबाई समान होती ह।ै इसिलए इ᭠हᱶ 

िसफᭅ मु᭎य सं᭎याᲐ मᱶ ᳞Ღ करना कᳯठन था। तब सभी दशेᲂ ने िन᳟य ᳰकया ᳰक ᮕीनिवच, 
जहाँ िᮩᳯटश राजकᳱय वेधशाला ि᭭थत ह,ै से गुजरने वाली या᭥योᱫर से पूवᭅ और पि᳟म ᳰक 
ओर िगनती शुᱨ ᳰक जाय। इस या᭥योᱫर को ᮧमुख या᭥योᱫर कहते ह।ै  

ᮧ᳤:  a)अᭃांश रेखाᲐ और दशेांतर रेखाᲐ मᱶ कोई एक अंतर िलिखए। 
a) ᮧमुख या᭥योᱫर ᳰकसे कहते ह?ᱹ 

Read the paragraph carefully and answer the following question 
               Unlike parallel of Latitude, all meridians are of equal length. Thus it was difficult to 

number the meridians. Hence all countries decided that the count should begin from 
the meridian which passed through Greenwich, where the British Royal Observatory is 
located. This meridian is called the Prime Meridian. 

Question: (a) Write any one difference between latitude and longitude? 
          (b) What is Prime Meridian? 
 
Q.No.15 अतीत मᱶ अनाज का उपयोग ᳰकन कायᲄ के िलए होता था? ᳰक᭠हᱭ तीन को िलिखए। 3 
                 In what ways grains were used in the past? Write any three. 
Q.No.16 हमᱶ घरेल ूकूड़ ेको घर मᱶ हᱭ अलग-अलग कूड़देान मᱶ छँटाई कर दनेा चािहए। ᭍यᲂ? 3 

Why should we separate household garbage in different bins at home only? 
 
Q.No.17 ᮧधान ᳰदᳲ᭏बद ु᭍या होते ह?ᱹ इनका मानिचᮢ मᱶ ᭍या उपयोग ह?ै 3 
                 What are cardinal points? What is its use in the maps?  

 
SECTION D 

Q.no.18.  22 ᳰदस᭥बर को दिᭃणी गोला᳍ᭅ मᱶ सबसे लंबा ᳰदन होता ह।ै ᭍यᲂ?  5 
                   There is the longest day in the northern hemisphere on 22nd December. Why?   

Or (या) 
         पृ᭝वी पर कहा ँ6 महीने का ᳰदन और 6 महीने कᳱ रात होती ह ैऔर ᭍यᲂ? 
                 Where on the Earth, six months day and 6 months night occur and why? 
 
Q.No.19 नीचे िलखे अनु᭒छेद को पढ़कर ᳰदये गए ᮧ᳤ो के उᱫर िलिखए- 5 
         लᳰेकन यह सब कर पाना िब᭨कुल आसान नहᱭ था। ऐसे कई जानवर ह,ᱹजो हमसे ᭔यादा 

तेज़ भाग सकते ह ᱹऔर बᱟत से जानवर हम से ᭔यादा ताकतवर भी होते ह।ᱹ जानवरᲂ के 
िशकार, िचिड़याँ या मचिलयाँ पकड़ने के िलए बड़ा सतकᭅ,जागᱨक और तेज़ होना पड़ता 
ह।ै पेड़-पौधᲂ से खाना जुटाने के िलए यह जानना जᱨरी होता ह,ैᳰक कौन से पेड़-पौध े



खाने यो᭏य होते ह,ᱹ ᭍यᲂᳰक कई तरह के पौधे िवषैल ेभी होते ह।ᱹ साथ हᱭ फलᲂ के पकने 
के समय ᳰक जानकारी भी जᱨरी होती ह।ै   

ᮧ᳤ : खा᳒संᮕाहकᲂ के सामने भोजन संᮕह करने मᱶ ᭍या-᭍या परेशािनयाँ आती थी? 
Read the paragraph carefully and answer the following question- 
                 None of these things was easy to do. There are several animals that run faster than us, 

many that are stronger. To hunt animals or catch fish and birds, people need to be 
alert, quick, and have lots of presence of mind. To collect plant produce, you need to 
find out which plant or parts of plants are edible, that is, can be eaten, as many can be 
poisonous. You also need to find out about the seasons when the fruits ripen. 

Question: What problems were faced by the hunter gatherers in the collection of food? 
SECTION E 

Q.No.20(A)  भारत के राजनीितक रेखा मानिचᮢ मᱶ A ,B और  C तीन  लᭃण अᳰंकत ᳰकए गए ह।ᱹ इन लᭃणᲂ 
को बॉ᭍स मᱶ ᳰदये गए श᭣दᲂ कᳱ सहायता से पहचािनए और उसके सही नाम मानिचᮢ पर 
खीचᱭ गयी रेखाᲐ पर िलिखए-                                         1×6=6                                                       

            ह᭨लूर   ,    बुजᭅहोम    ,  ईनामगाँव 
Q.No.20(B) िव᳡ के राजनीितक रेखा मानिचᮢ मᱶ िन᳜िलिखत को उपयᲦु िच᭠हᲂ से दशाᭅइए और  
        नाम िलिखए-                                                           

ᮧशांत महासागर , ऑ᭭ᮝेिलया महा᳇ीप ,  ककᭅ रेखा   
 
  Three places A, B and C are marked on the outline political map of India, identify these places 

with the help of the words given in the box and write their correct names on the line marked 
near them: 

 
 
 
  Locate and label the following with appropriate symbols on the given outline political map of 

world. 
 

Pacific  Ocean  , Australia continent , Tropic of  Cancer  
 
 
 
नोट : िन᳜िलिखत ᮧ᳤ केवल दिृ᳥बिधत परीᭃाᳶथयᲂ के िलए ᮧ᳤ स᭎ंया 20 के ᭭थान ह।ै 

(i) िचराँद ᳰकस रा᭔य मᱶ ि᭭थत ह?ै 
(ii) ᮧधान म᭟या᭮न ᳰकस दशेांतर को कहते ह?ᱹ 
(iii) आकᭅ ᳯटक महासागर पृ᭝वी के ᳰकस गोलाधᭅ मᱶ ि᭭थत ह?ै 
(iv) क᭫मीर मᱶ नवपाषाण काल के सा᭯य कहाँ से िमले ह?ै 
(v) म᭟य ᮧदशे मᱶ पुरापषाण काल कᳱ चीज़ᱶ कहाँ िमली ह?ᱹ 

               Hallur           ,           Burzhome            ,    Inamgaon   



(vi) ह᭨लूर अतीत के ᳰकस काल से संबि᭠धत ह?ै   
 Note: The following questions are for the Visually Impaired candidates Only in lieu of Q. No. 20  

(i) In which state Chirand is located? 
(ii) Which longitude is called prime meridian?   
(iii)  In which hemisphere Arctic Ocean is located? 
(iv)  From which site in Kashmir we found evidences of Neolithic age. 
(v)  From which site of Madhya Pradesh we found evidences of Paleolithic age? 
(vi)  From which prehistoric age Hallur is associated? 

 
 
 



 
 
 

  

 



 
 

 

  
 
 

 
 
 
 
 
 
 



 


